B
97450 - €A AN FOAW *f 4(T© FA ARHTS T

SR AT FCEC T JACRE | STV SR | SN 97 e GI6f ois 2 FIrIere FeRf | @ Al 40T w4l
QIR CIET A1 AFETC G AT AP I Bl A TR R{T?

TR SR I,

2B ACHC Tl AN FCEC T FF, I Tl BIpe] @ AR #ATS! 5ot I G IWeTC FOAMN AR 2Tl Aol 27
TFACSAC G FOAW 21 4TS TR AN T ST T | IO #A1 L0© F1H RIS WA AHC 72 |
oA AR THF WA AR I Al 1 (g, Il 2R BIFfs AIve Iy =¥ S5 AT IZeC 7T
TG T (OT© T AR TAT WAIE | Ao qwl A TG WA ST FCF WHRWA TCH B
TS I PG WO A SIRETC S 7 GBI TAF ¢ 2RI FACRE HCBIF S AR I |

[¥22 AT E-FISIAE FOCRAPTIF ACHC ARG (3/00)]


https://archive-1446.islamqa.info/bn/answers/97450/%E0%A6%93%E0%A6%AF%E0%A6%B0-%E0%A6%B8%E0%A6%AE%E0%A7%9F-%E0%A6%95%E0%A6%A4%E0%A6%B0%E0%A6%AE-%E0%A6%AA-%E0%A6%A7%E0%A6%A4-%E0%A6%95%E0%A6%B0-%E0%A6%86%E0%A6%AC%E0%A6%B6%E0%A6%AF%E0%A6%95-%E0%A6%A8%E0%A7%9F

